RAILWAY RECRUITMENT BOARDS
Yo et a2

Level-1 Posts CEN-02/2018

[Participant ID: 202140079290010
Participants Name:|SANU DAS

Test Center Name: |iON Digital Zone iDZ Belgharia
Test Date: 11/12/2018

Test Time: 12:30 PM - 2:00 PM

Subject: Level 1

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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Question ID : 3026163900
Option 11D : 30261615600
Option 2 ID : 30261615598
Option 3 ID : 30261615599
Option 4 ID : 30261615597
Status : Answered
Chosen Option : 3

Q.2 Ppointing to a lady, Khan said, ‘she is the mother of my brother’s son wife’s daughter.” How is the lady related to Khan?
Ans 1. Brother

2. Cousin

3. Uncle

4. Daughter-in-law

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 3026163828
Option 11D : 30261615312
Option 2 ID : 30261615311
Option 3 1D : 30261615309
Option 4 ID : 30261615310
Status : Answered
Chosen Option: 3
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Question ID : 3026163853
Option 11D : 30261615410
Option 2 ID : 30261615411
Option 31D : 30261615412
Option 4 ID : 30261615409
Status : Answered
Chosen Option : 2
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Question ID : 3026163803
Option 11D : 30261615211
Option 2 ID : 30261615210
Option 31D : 30261615212
Option 4 ID : 30261615209
Status : Answered
Chosen Option : 3
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Question ID : 3026163854
Option 11D : 30261615414
Option 2 1D : 30261615413
Option 31D : 30261615415
Option 4 ID : 30261615416
Status : Answered
Chosen Option : 4
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Question ID : 3026163870
Option 11D : 30261615478
Option 2 ID : 30261615477
Option 3 1D : 30261615479
Option 4 1D : 30261615480
Status : Answered
Chosen Option : 2
Q.7 use regeneration cells for reproduction in the process of budding.
Ans X 1. Yeast
/< 2. Amoeba
« 3. Hydra
/< 4 Planaria
Question ID : 3026163879
Option 11D : 30261615514
Option 2 ID : 30261615516
Option 31D : 30261615515
Option 4 ID : 30261615513
Status : Answered
Chosen Option: 2
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Question ID : 3026163891
Option 11D : 30261615561
Option 2 ID : 30261615563
Option 31D : 30261615562
Option 4 ID : 30261615564
Status : Answered
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Question ID : 3026163869
Option 11D : 30261615476
Option 2 ID : 30261615473
Option 31D : 30261615474
Option 4 ID : 30261615475
Status : Answered
Chosen Option : 2
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Question ID : 3026163888
Option 11D : 30261615552
Option 2 ID : 30261615550
Option 31D : 30261615549
Option 4 1D : 30261615551
Status : Answered
Chosen Option : 2
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Question ID : 3026163896
Option 11D : 30261615583
Option 2 ID : 30261615581
Option 31D : 30261615584
Option 4 1D : 30261615582
Status : Answered
Chosen Option: 3
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Question ID : 3026163899
Option 11D : 30261615593
Option 2 1D : 30261615594
Option 31D : 30261615595
Option 4 1D : 30261615596
Status : Not Answered
Chosen Option : -

Q; What is the seat on which the parts of a flower are present called?

Ans  of 1. Thalamus
& 2 Calyx
& 3. Oviduct
#< 4. Placenta

Question ID : 3026163878
Option 11D : 30261615510
Option 2 1D : 30261615511
Option 31D : 30261615512
Option 4 1D : 30261615509
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.

4
Odometer : Distance :: Ammeter : ?
Ans X 1. Wind
' 2. Current
X 3. Mass

/< 4 Earthquakes

Question ID : 3026163844
Option 11D : 30261615376
Option 2 1D : 30261615373
Option 31D : 30261615374
Option 4 ID : 30261615375
Status : Answered
Chosen Option : 2
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Question ID : 3026163805

Option 11D : 30261615217
Option 2 ID : 30261615219
Option 31D : 30261615218




Chosen Option :

Option 4 1D : 30261615220
Status : Answered
Chosen Option : 4
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Question ID : 3026163846
Option 11D : 30261615383
Option 2 ID : 30261615381
Option 31D : 30261615382
Option 4 ID : 30261615384
Status : Answered
Chosen Option : 4
Q.1 93ff g wepe X 17:2813W (I WANGA W 6 (IS FAT TW, BRE el 13:20 (B T9E
7 @ W WAt Fw?
Ans X1 112
X 2 98
X 3126
W 4 140
Question ID : 3026163811
Option 1 ID : 30261615242
Option 2 ID : 30261615241
Option 31D : 30261615243
Option 4 ID : 30261615244
Status : Answered
Chosen Option : 4
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X 3. E = PfQ
X4 E=Qst
Question ID : 3026163866
Option 11D : 30261615464
Option 2 ID : 30261615461
Option 31D : 30261615462
Option 4 ID : 30261615463
Status : Answered
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Q.1 InJanuary, a person received 4 packages weighing an average of 300 g, and in February, 8 packages weighing an
average of 400 g. What is the average weight, in g. of all the packages the person received in both the months?




Ans o1 376.67 g

X2 412.67¢
/X3 350¢g
f 4. 366.67 g
Question ID : 3026163821
Option 11D : 30261615283
Option 2 ID : 30261615284
Option 31D : 30261615281
Option 4 ID : 30261615282
Status : Answered
Chosen Option : 4
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Question ID : 3026163837
Option 11D : 30261615346
Option 2 ID : 30261615348
Option 3 ID : 30261615347
Option 4 ID : 30261615345
Status : Answered
Chosen Option : 1

Q.2 A ball moving with velocity 2 m/s collides head on with another stationary ball of double the mass. If coefficient of
1 restitution is 0.5, then their velocities after collision will be:

Ans (1. 1,1.5
521,2
301
K402

Question ID : 3026163860
Option 1 1D : 30261615437
Option 2 ID : 30261615438
Option 3 1D : 30261615439
Option 4 ID : 30261615440
Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID : 3026163813
Option 11D : 30261615251
Option 2 ID : 30261615252
Option 31D : 30261615250
Option 4 ID : 30261615249
Status : Answered
Chosen Option : 1
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 3026163848
Option 11D : 30261615390
Option 2 ID : 30261615389
Option 3 1D : 30261615392
Option 4 1D : 30261615391
Status : Answered
Chosen Option : 2

Q.2 Read the given statement and conclusions carefully and select which of the conclusions logically follow(s) from the
4 statement.
Statement: The majority rles in a democracy.

Conclusion 1: Candidates are elected by a majority of votes in a democracy.
Conclusion 2: Laws in the parliament are amended by the majority in a democracy.

Ans 1. Only conclusion 1 follows




/< 2. Only conclusion 2 follows

/< 3. Neither 1 nor 2 follows
+ 4 Both 1 and 2 follows

Question ID : 3026163832
Option 11D : 30261615325
Option 2 ID : 30261615326
Option 31D : 30261615328
Option 4 ID : 30261615327
Status : Answered
Chosen Option: 1
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Question ID : 3026163847
Option 1 ID : 30261615387
Option 2 ID : 30261615386
Option 3 ID : 30261615385
Option 4 ID : 30261615388
Status : Answered
Chosen Option : 1
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Question ID : 3026163862
Option 11D : 30261615446
Option 2 ID : 30261615448
Option 31D : 30261615445
Option 4 ID : 30261615447
Status : Answered

Chosen Option : 3
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Question ID : 3026163814
Option 11D : 30261615256
Option 2 ID : 30261615254
Option 3 ID : 30261615253
Option 4 ID : 30261615255
Status : Answered
Chosen Option : 2
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Question ID : 3026163859
Option 1 ID : 30261615436
Option 2 1D : 30261615433
Option 31D : 30261615435
Option 4 1D : 30261615434
Status : Answered
Chosen Option : 3
%2 Which of the following do NOT have the same units?
Ans 1. Speed and velocity
/< 2. Distance and displacement
/< 3. Acceleration and acceleration due to gravity
« 4 Momentum and force
Question ID : 3026163857
Option 11D : 30261615425
Option 2 ID : 30261615426
Option 3 ID : 30261615427
Option 4 ID : 30261615428
Status : Answered
Chosen Option : 4
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Question ID : 3026163895
Option 1 ID : 30261615578
Option 2 ID : 30261615577
Option 31D : 30261615580
Option 4 ID : 30261615579
Status : Answered
Chosen Option : 4
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Question ID : 3026163839
Option 1 ID : 30261615354
Option 2 ID : 30261615355
Option 31D : 30261615356
Option 4 ID : 30261615353
Status : Answered
Chosen Option : 4
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Question ID : 3026163809
Option 11D : 30261615236
Option 2 ID : 30261615235
Option 31D : 30261615234
Option 4 ID : 30261615233
Status : Answered
Chosen Option : 3
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Statement:
“Please note that the company will provide accommodation only to outside candidates, if selected.”

Assumptions:

The company plans to select outside candidates only.
The company plans to select local candidates only.

Either assumption I or II is implicit.

Only assumption II is implicit.

Q.3 Read the given statement and decide which of the following assumptions is/are implicit in the statement.




+ 3. Neither assumption I nor II is implicit.

/< 4. Only assumption I is implicit.

Question ID : 3026163849
Option 1 ID : 30261615395
Option 2 ID : 30261615394
Option 31D : 30261615396
Option 4 ID : 30261615393
Status : Answered
Chosen Option: 3
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Question ID : 3026163830
Option 11D : 30261615318
Option 2 ID : 30261615317
Option 31D : 30261615320
Option 4 ID : 30261615319
Status : Answered
Chosen Option : 4
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Question ID : 3026163881
Option 11D : 30261615523
Option 2 ID : 30261615524
Option 3 ID : 30261615522
Option 4 ID : 30261615521
Status : Not Answered
Chosen Option : --
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Question ID : 3026163855
Option 11D : 30261615418
Option 21D : 30261615417
Option 31D : 30261615420
Option 41D : 30261615419
Status : Answered
Chosen Option : 2
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Question ID : 3026163884
Option 11D : 30261615533
Option 2 ID : 30261615536
Option 3 1D : 30261615535
Option 4 ID : 30261615534
Status : Answered
Chosen Option : 2

Q.3 Read the following information carefully and then answer the question that follows.

8

Dhavan is planning to purchase a flat in Shyamala Society.
Shyamala Society has kept the following conditions for the allotment of flats in their society.

The applicant:

(1) must produce domicile certificate of the state.

(ii) must be earning for a minimum of 5 years.

(1ii) must be ready to pay the entire amount in 5 years” period.

(1v) must not be an owner or co-owner (if spouse is the owner) of a residential accommodation in that city.
(v) must not be less than 35 years of age as on 31 December 2016.

In case of an applicant who satisfies all other criteria EXCEPT:

A) (i) as given above, must be referred to the President of Town Council.

B) (ii) as given above, but is ready to provide Aadhaar card, should be referred to the Vice-Chairman of the Committee.
C) (iii) as given above, but is a freedom fighter or an ex-serviceman or a first relation with these, should be referred to a
member of the Committee.

The last date for the receipt of application was 31 December 2016. Conditions are to be fulfilled as on 31 December
2016. Based on these criteria, decide whether to allot flat to the following case presented to you as on 1 January 2017.

Dhavan is the son of an industrialist and is from another state, who has set his factory in 2000 and has a domicile
certificate of the state. He is ready to pay the entire amount in 4 years if required. He does not own a house in that city
but his wife owns a flat there. His date of birth is 11 November 1970.

Ans X 1. Refer to the President.

< 2. Refer to the Vice-Chairman.
& 3. Allot flat.

+ 4 Do not allot flat.

Question ID : 3026163829
Option 11D : 30261615315




Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

30261615314
30261615316
30261615313
Not Attempted and Marked For Review
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Question ID : 3026163893
Option 11D : 30261615570
Option 2 ID : 30261615569
Option 31D : 30261615571
Option 4 ID : 30261615572
Status : Answered

Chosen Option : 1

064aﬂ—zoorngmﬁﬂﬁ?@ﬂﬂw,@mm?aﬁ@zooawmﬁﬁ%?
PR CEIE]
X 2 (T
X 3 afqaE
W 4. WEEEIE

Question ID : 3026163818

Option 11D : 30261615272
Option 2 ID : 30261615270
Option 31D : 30261615269
Option 4 1D : 30261615271
Status : Answered

Chosen Option : 4

1

< 1. China
X 2 USA

X 3. South Korea
+ 4 Singapore

Q.4 In August 2018, India and which country signed the *Second Protocol’ amending the Comprehensive Economic
Cooperation Agreement (CECA) to boost trade ties between the two countries?

Question ID : 3026163898

Option 11D : 30261615589
Option 2 1D : 30261615592
Option 31D : 30261615591
Option 4 1D : 30261615590

Status : Answered

Chosen Option : 4
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Question ID : 3026163873
Option 11D : 30261615489
Option 2 ID : 30261615490
Option 31D : 30261615491
Option 4 ID : 30261615492
Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID : 3026163880
Option 11D : 30261615520
Option 2 ID : 30261615519
Option 31D : 30261615518
Option 4 ID : 30261615517
Status : Answered
Chosen Option : 3
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Question ID : 3026163840
Option 11D : 30261615359

Option 2 ID : 30261615357
Option 31D : 30261615360
Option 4 ID : 30261615358
Status : Answered
Chosen Option : 4
Q.4 Select the term that relates to the third term in the same way that the second term relates to the first term.
5
Hockey : Ground :: Badminton : ?
Ans 1. Pitch
& 2. Stadium
/< 3. Arena
v 4 Court
Question ID : 3026163826
Option 11D : 30261615303
Option 2 1D : 30261615301
Option 31D : 30261615304
Option 4 ID : 30261615302
Status : Answered
Chosen Option : 4
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Question ID : 3026163816
Option 1 ID : 30261615262
Option 2 ID : 30261615261
Option 31D : 30261615264
Option 4 ID : 30261615263
Status : Answered

Chosen Option : 4

Q;‘ Kakrapar Atomic Power Station is a nuclear power station in

Ans 5 1. Maharashtra
/< 2. Rajasthan




+ 3. Gujarat
/< 4 Karnataka

Question ID : 3026163897

Option 11D : 30261615585
Option 2 1D : 30261615588
Option 31D : 30261615586
Option 4 1D : 30261615587

Status :
Chosen Option :

Marked For Review
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

3026163856
30261615423
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30261615424
30261615421
Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

3026163889
30261615555
30261615554

30261615556
30261615553
Answered
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Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

3026163887
30261615547
30261615546
30261615545
30261615548
Marked For Review

Chosen Option : 4

Q.5 Read the given statement(s) and conclusions carefully. Assuming that the information in the statements is true, even if

1

Ans

they appear to be in variance with commonly known facts, select which of the conclusions logically follow(s) from the
statement(s) beyond reasonable doubt.

Statements: All tonics are toxins. All toxins are poisons.

Conclusions:
L All poisons are tonics.
IL Some poisons are tonics

« 1. Only II follows

/< 2. Either I or II follows
/< 3. Both I and II follow
/< 4 Only I follows

Question ID : 3026163833
Option 11D : 30261615330
Option 2 ID : 30261615331
Option 31D : 30261615332
Option 4 ID : 30261615329
Status : Answered
Chosen Option: 1
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Question ID : 3026163822
Option 1 ID : 30261615285
Option 2 ID : 30261615287
Option 31D : 30261615288
Option 4 1D : 30261615286

Status : Answered
Chosen Option : 1
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Question ID : 3026163820
Option 11D : 30261615278
Option 2 ID : 30261615277
Option 31D : 30261615280
Option 4 1D : 30261615279
Status : Answered
Chosen Option : 4

Q.5 5 ) 5 5
o What is the least number of parallelogram in the given figure?

Ans x 1. 47

< 3 39
X 4 51

Question ID : 3026163851
Option 11D : 30261615401
Option 2 ID : 30261615402
Option 3 ID : 30261615404
Option 4 ID : 30261615403
Status : Not Attempted and Marked For Review
Chosen Option : --

055 #ed vET FEws "o et 95T frm ew wffe ) e aE w91 Gore G99 e s )

Ans (1. LZE]
X 2 e
X3 9%
X4 (B

Question ID : 3026163845
Option 11D : 30261615380
Option 2 ID : 30261615378
Option 31D : 30261615377
Option 4 ID : 30261615379
Status : Answered
Chosen Option : 1

@5 What is the molecular formula of iso-butane?
ans X1 CsHg

v 2 C4Hyg

/X 3. C3Hg

X 4 C4Hg

Question ID : 3026163872




Option 11D : 30261615488
Option 2 1D : 30261615486
Option 31D : 30261615487
Option 4 ID : 30261615485
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.5 wpfs snefs Afene @ owfF AfFEEE TEed | AFE S AR Sifer seE AfEeE 6 sdl qEE
7 ooty AT S eiftter oieE AR SFPe 5 ?

Ans X171 : 16
K21: 24
v31: 64
K464 11

Question ID : 3026163810
Option 1 ID : 30261615239
Option 2 ID : 30261615240
Option 31D : 30261615237
Option 4 ID : 30261615238
Status : Answered
Chosen Option : 4

Qé5 One of the following rivers that drained the Sapta Sindhu region and later dried up is:

Ans o 1. Saraswati
& 2. Yamuna
< 3. Thelum
#< 4 Chenab

Question ID : 3026163894
Option 11D : 30261615574
Option 2 ID : 30261615575
Option 31D : 30261615573
Option 4 ID : 30261615576
Status : Not Attempted and Marked For Review
Chosen Option : --

Y Iawa oo AT ¥FATE (oAl H-SIA-N (F T 2;:

Ane XK. TS e
v o FEEE e
X3 3 B
X 4 - oy

Question ID : 3026163886
Option 11D : 30261615543
Option 2 ID : 30261615542
Option 3 1D : 30261615544
Option 4 ID : 30261615541
Status : Not Answered
Chosen Option : --
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Question ID :

Option 1 ID
Option 21D :
Option 31D :
Option 4 ID
Status :

Chosen Option :

3026163835

130261615337

30261615338
30261615339

130261615340

Answered
1

Ans X 1. 250 kg

Q.6 The kinetic energy of an object of mass 20 kg moving with a velocity of 5 ms~ will be
1

Chosen Option :

V2 2507
X3 250N
X 4 250 Pa
Question ID : 3026163861
Option 11D : 30261615444
Option 2 ID : 30261615441
Option 3 1D : 30261615442
Option 4 1D : 30261615443
Status : Answered
Chosen Option : 3
Q.6
> 23X 3°Xx 53X 7% —aF Fogll SaF T fEEHIAN?
ans X 1. 24
X 2 48
V'3 60
X 4 36
Question ID : 3026163808
Option 11D : 30261615229
Option 2 ID : 30261615231
Option 31D : 30261615232
Option 4 1D : 30261615230
Status : Not Answered
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Question ID : 3026163876
Option 1 ID : 30261615502
Option 2 ID : 30261615504
Option 31D : 30261615503
Option 4 ID : 30261615501
Status : Not Answered
Chosen Option : --
Q.6
4 21904 -a49 95 Fﬁ GACN
Ans X 1. 152
X 2 146
W 3 148
X 4144
Question ID : 3026163801
Option 1 ID : 30261615204
Option 2 ID : 30261615202
Option 31D : 30261615203
Option 41D : 30261615201
Status : Answered
Chosen Option : 3
Q.6 Considering the given statements as true, which of the options is definitely true?
1. Some cats have two legs.
2. Some men are not cats.
3. All monkeys are men.
Ans 1 All monkeys have two legs.
2. Some men are cats.
3. Some lﬂﬂﬂkﬂ}’s are not cats.
4. All men have four legs.
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 3026163834
Option 11D : 30261615333
Option 2 ID : 30261615334
Option 31D : 30261615335
Option 4 ID : 30261615336
Status : Answered
Chosen Option : 3




* fufific wEF TETe] TERAG T Tl
11K19, 16PN14,
Ans - X 1. Q18819
X 2 22U819
v 3 210819
X 4 21Vs19

Question ID : 3026163838
Option 11D : 30261615350
Option 2 ID : 30261615351
Option 31D : 30261615349
Option 41D : 30261615352
Status : Answered

Chosen Option: 3

Ans X 1. 5/ET (Chara)
v 2. fsfferm (Marsilea )
/< 3. AMERAT( Marchantia )
X 4 [EEAT( Funaria)

L Jea @Ete 3w @ fas, SEmE R Tere [Aew?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

3026163877

30261615506

30261615507

30261615505

30261615508

Not Attempted and Marked For Review

Qé" Lanthanides and actinides are:

Ans 1. p- block elements

/< 2. 5- block elements
+ 3. £ block elements
/< 4. d- block elements

Question ID : 3026163875
Option 11D : 30261615498
Option 2 ID : 30261615497
Option 31D : 30261615500
Option 4 ID : 30261615499
Status : Answered

Chosen Option : 3

Ans X 1. —24.5
X 2.24.5

Q8 afti 332+ ax— 12 MEFOTT x— 8 AT fOOY 20, O a 97 AW 0




W3 —22.5
X 4225

Question ID : 3026163823
Option 11D : 30261615291
Option 2 ID : 30261615292
Option 31D : 30261615290
Option 4 1D : 30261615289
Status : Not Attempted and Marked For Review
Chosen Option : --

7 2018 FAFIEEN (ST BES (B PeSE AT (A?
Ans (1. 6E

X 2 61

K 359

X 458

Question ID : 3026163883
Option 11D : 30261615532
Option 2 ID : 30261615531
Option 31D : 30261615530
Option 4 ID : 30261615529
Status : Answered
Chosen Option : 2

@7 The density of a substance is defined as
Ans 1. weight per unit volume

+ 2. mass per unit volume

/< 3. thrust per unit area

/< 4. product of mass and acceleration

Question ID : 3026163858
Option 1 ID : 30261615429
Option 2 ID : 30261615431
Option 31D : 30261615430
Option 4 ID : 30261615432
Status : Answered
Chosen Option : 2

V CrEfifie @ St I3 ST TR T@?
Ans T
X —

95
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Question ID : 3026163802
Option 11D : 30261615205
Option 2 ID : 30261615206
Option 31D : 30261615208
Option 4 ID : 30261615207
Status : Not Attempted and Marked For Review
Chosen Option : --

3

Q.7 Which of the following processes will you use to separate Ammonium Chloride from Sodium Chloride?

Ans  of 1 Sublimation
< 2 Distillation
/< 3. Crystallization

7< 4. Filtration

Question ID : 3026163867
Option 11D : 30261615466
Option 2 ID : 30261615467
Option 31D : 30261615468
Option 4 ID : 30261615465
Status : Answered
Chosen Option : 1

%7 91238769AZ

SR WAed S Ffewie 2E:
Ans ?(1~

X 2

X 3
v

SAeavBESTe
era2esvaAs
@1S38Y69AZ
21538100V

Question ID : 3026163827
Option 11D : 30261615305
Option 2 ID : 30261615307
Option 3 1D : 30261615308
Option 4 ID : 30261615306
Status : Answered
Chosen Option : 4

057 3007 oTeBEE 2018 T AF(E ARG we @E AwE AR 3007 CEE 930 AR TeE?

Option 31D :

Ans X 1. 2027
X 22023
X 32024
v 4 2029
Question ID : 3026163819
Option 11D : 30261615275
Option 2 ID : 30261615273

30261615274




Option 4 1D : 30261615276
Status : Answered
Chosen Option : 4

°é74WXZBQP0J6GTMVEUH53B
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Chosen Option : -

Ans x 1.7
v2G
X3 6
X 44
Question ID : 3026163836
Option 11D : 30261615344
Option 2 ID : 30261615341
Option 31D : 30261615342
Option 4 ID : 30261615343
Status : Answered
Chosen Option : 2
Q.7 i
S diew foafle (off Fate Fes aRd 979 FaT AR ?
il D]
Ans X' 1. 28
K 2 55
X 3 36
v 4 31
Question ID : 3026163852
Option 1 ID : 30261615405
Option 2 1D : 30261615406
Option 31D : 30261615407
Option 4 ID : 30261615408
Status : Not Attempted and Marked For Review

Ans

X1 ¥ 525
v 2 ¥ 550
X 3. T 600
K4 575

Q7 o3t e RAF sa@ T 33% e 9 7% TMeF 706 TS 7 2201 GREET FT W Fw?
8




Question ID : 3026163812
Option 11D : 30261615248
Option 2 ID : 30261615247
Option 3 ID : 30261615245
Option 4 ID : 30261615246
Status : Answered
Chosen Option : 2
Q§7 2018 WEH (FUBEA AT ©Fe (@19 (WCH TN AFG f AW § AT (FF6 SNESE Fare?
Ans x
. S
X235 &
X 3 T
v 4 3T av g
Question ID : 3026163890
Option 11D : 30261615560
Option 2 ID : 30261615557
Option 3 ID : 30261615559
Option 4 ID : 30261615558
Status : Not Answered
Chosen Option : --
Q.8 A train travelling at constant speed crosses two persons cycling in the same direction in 8 seconds and 8.4 seconds
0 respectively. The first person was cycling at a speed of 9 km'h while the second was cycling at a speed of 12 knvh.
What was the speed of the train in km/h?
Ans x 1. 75
X 2 81
V3 72
X 4 66
Question ID : 3026163815
Option 11D : 30261615259
Option 2 ID : 30261615260
Option 31D : 30261615258
Option 4 ID : 30261615257
Status : Answered
Chosen Option : 3

Ans ?(1~
v &)
X s
p

01-3 B 47 (FF MEHF &N faTe WS f(x) = x> — 4bx + 9 47 FFed FF TF -27?

4.5 9¥4€] —4.5
3 oRHE] —3
6 =4l —6
4 SEET —4
Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

: 3026163825

: 30261615297

: 30261615300

: 30261615299

: 30261615298

: Not Attempted and Marked For Review




l Chosen Option : --

98 The SIunit of potential difference is
Ans 1. Joules

Ans o 1. period
< 2. group

v 2 Volt
/< 3. Coulomb
X 4 Watts
Question ID : 3026163865
Option 11D : 30261615459
Option 2 ID : 30261615458
Option 3 ID : 30261615457
Option 4 ID : 30261615460
Status : Answered
Chosen Option : 2
W @ T T AT AR (ARG § TR W) IHEH T
Ans  of 1. 2005
X 2 2004
X 3. 2000
X 42002
Question ID : 3026163892
Option 1 1D : 30261615568
Option 2 ID : 30261615567
Option 3 ID : 30261615565
Option 4 ID : 30261615566
Status : Answered
Chosen Option : 4
Qf 4.5 + 0,45 + 0.045 + 0.0045 49 HH T(4:
Ans  of 14,9995
< 25,0005
< 3. 4,995
< 4 4,99995
Question ID : 3026163806
Option 11D : 30261615223
Option 2 ID : 30261615224
Option 3 ID : 30261615221
Option 4 ID : 30261615222
Status : Answered
Chosen Option : 1
Qés Elements across the show an increase in valence electrons.




X 3 row

< 4 column

Question ID : 3026163874
Option 11D : 30261615496
Option 2 ID : 30261615493
Option 31D : 30261615495
Option 4 ID : 30261615494
Status : Answered
Chosen Option : 2
Q.8 The age of Mohan and Sohan are in the ration 5:4. If the sum of their present ages is 36 years, what is the present age of
6 Sohan?
Ans 1. 14 years
/X< 2. 15 years
' 3. 16 years
/X 4. 12 years
Question ID : 3026163817
Option 11D : 30261615268
Option 2 ID : 30261615266
Option 3 1D : 30261615265
Option 4 ID : 30261615267
Status : Answered
Chosen Option: 3
Q.8 G A =y g off WAFET (WA =W WAFACE @FEG/eF ey Tow fite wwE w fifrs
7 =
X2 — yZ aF W T w
1) =T x +y =2
2) I x -y =6
Ans
X . BN | AR
X2 BYI@E 2 AT
V'3 BEY 1 AT 2 AT
K413 2 (FEGE IEE 9F
Question ID : 3026163843
Option 11D : 30261615369
Option 21D : 30261615370
Option 31D : 30261615372
Option 41D : 30261615371
Status : Answered
Chosen Option : 3

Q.8 A solution contains 50 g of sugar in 150 g of water. The concentration in terms of mass by mass percentage is

8

Ans x-]_
v 2
x 3
X a

50%
25%
3%
48.2%




Question ID : 3026163868
Option 11D : 30261615469
Option 2 1D : 30261615470
Option 31D : 30261615471
Option 4 1D : 30261615472
Status : Answered
Chosen Option: 3
Q.8 Four couples go to a party. All the women are wearing sarees of different colours. All the men are wearing shirts of
9 different colours. The colour of a shirt and a saree may be the same. Consider all statements given below and answer the
question.
Statements:
1. Rama is married to Ramesh who is wearing a red shirt.
2. Purva, who is not Anup’s wife, is wearing a blue saree.
3. Anup and Shreya are wearing green coloured clothes.
4. Mrunmayi, the wife of Sandesh, is not wearing a vellow saree.
5. Viraj is wearing a yellow shirt.
Question:
Who is Shreya’s husband?
Ans  of 1. Anup
< 2 Sandesh
/< 3. Viraj
/< 4 Ramesh
Question ID : 3026163841
Option 11D : 30261615362
Option 2 1D : 30261615364
Option 31D : 30261615361
Option 4 ID : 30261615363
Status : Answered
Chosen Option: 3
Q.9 A man starts walking in the direction of the rising sun. turns left by 45° and walks further for 500 m. He then turns left
0 by 90° and walks for a while. What direction is he facing now?
Ans X 1. West
< 2. North
« 3. North west
/< 4 North east
Question ID : 3026163850
Option 11D : 30261615400
Option 2 1D : 30261615398
Option 31D : 30261615397
Option 4 1D : 30261615399
Status : Answered
Chosen Option : 2

1

Ans

‘Knight of the Order of Arts and Letters?
v . Kamal Haasan
< 2. Anupam Kher

< 3. Shabana Azmi
2 4 Rajinikanth

Q.9 Who among the following, a prominent film actor, has been selected for France for its prestigious award known as




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

3026163885

30261615539
30261615537
30261615540
30261615538

Status : Answered

Chosen Option :

1

2 samsf &dT FF4 |
Ans 1. 27, 81
X 2 51, 153
W3 17, 51
X 413, 39

Q.9 4t fEams/=AHF TATH A58 T B0 SLALY IF feasd| AW A8 4T SLMET &9%T 867 T,

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

3026163804
30261615214
30261615216
30261615215
30261615213
Answered

3

Ans 1. Real
/< 2. imperfect

/< 3. perfect
« 4 Virtual

Q.9 If an object is placed between concave mirror and F, what will be the type of image formed?
3

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

3026163863
30261615450
30261615451
30261615452
30261615449
Answered

4

4 ratio of the corresponding heights of the triangle and the parallelogram will be:

Ans of 1 14:5

Q.9 The base of a triangle is five-seventh of the base of a parallelogram having the same area as that of the triangle. The

Question ID : 3026163824

X27:5
X3 .21:10
Xa5:3
Option 1 ID
Option 2 ID
Option 31D :
Option 4 ID
Status :

: 30261615295
: 30261615294
30261615296
: 30261615293
Not Attempted and Marked For Review




Chosen Option : --

5 statement(s).

Statement:
All jaguars are cheetahs, All panthers are cheetahs

Conclusions:
1. All jaguars are panthers.
2. Some jaguars are panthers.

Ans 1. Only conclusion 2 follows

« 2 Neither 1 nor 2 follows
/< 3. Both 1 and 2 follows
/< 4. Ounly conclusion 1 follows

Q.9 Read the given statement(s) and conclusions carefully and select which of the conclusions logically follow(s) from the

Question ID : 3026163831
Option 11D : 30261615322
Option 2 1D : 30261615323
Option 31D : 30261615324
Option 4 1D : 30261615321
Status : Answered
Chosen Option : 2
069 4T3 G (2018) AMINHNF (FF Flle @HES TFHE (W9T] TAR?
Ans 1. glHw %
v 2 TEQFT
X 3. sEfaeTeT
X 4 st
Question ID : 3026163882
Option 11D : 30261615526
Option 2 ID : 30261615527
Option 31D : 30261615528
Option 4 ID : 30261615525
Status : Answered
Chosen Option: 3
Q.9 156 (W NmE M ST MF 3 A ©E AeUE e W WG TwE ST 346 msT! TERET
(LA (NF AA [ FGo] 7w ?
Ans X1 346 m
X 2341 m
K 3219 m
v 4519 m
Question ID : 3026163864
Option 11D : 30261615456
Option 2 ID : 30261615454
Option 31D : 30261615453
Option 4 ID : 30261615455
Status : Answered
Chosen Option : 2




% 163+ 83 + 22 -9 ffy FFA?
Ans g o-1

2. 95

3 22

4. 91

Note: For this question, discrepancy is found in question/answer. So, This question is ignored

for all candidates.

Question ID : 3026163807
Option 11D : 30261615228
Option 2 ID : 30261615227
Option 31D : 30261615225
Option 4 ID : 30261615226
Status : Answered
Chosen Option : 4
°é9 Which of the following salts does NOT contain water of crystallisation?
Ans 1. Gypsum
/< 2. Washing soda
+ 3 Baking soda
X 4. Blue vitriol
Question ID : 3026163871
Option 11D : 30261615484
Option 2 ID : 30261615482
Option 3 1D : 30261615483
Option 4 ID : 30261615481
Status : Answered
Chosen Option: 3
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Ans O 1. 10 I
X2 30 %
X315 %
420 TH
Question ID : 3026163842




Option 11D : 30261615365
Option 2 1D : 30261615368
Option 31D : 30261615366
Option 4 ID : 30261615367
Status : Answered
Chosen Option : 4




